Ma 4 05 Umrechnungen 13.02.2021

Neue Aufgabenblitter erstellen > EI.%"’:E;EE
Aufgabe 1 .
O [R5ra

a) 53 mPups = dPups

b) 4.8 cPups = kPups

c) 043 g = mg

d) 630 dPups = Pups

e) 7800 hl = |
Aufgabe 2

a) 40 mm = dm

b) 20.8 dPups = kPups

c) 4.076 m| = cl

d) 950 mm = cm

e) 4500 dPups = hPups
Aufgabe 3

a) 80 Pups = mPups

b) 58.7 cl = dl

c) 8.79 hPups = kPups

d) 890 km = cm

e) 2300 dl = ml
Aufgabe 4

a) 96 m = dm

b) 62.4 hPups = dPups

c) 0.863 hPups = mPups

d) 450 dPups = mPups

e) 6700 mPups = hPups
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Losungen Aufgabe 1

a) 53 mPups = 0.53 dPups
b) 4.8 cPups = 0.000048 kPups
c) 0.43 g = 430 mg
d) 630 dPups = 63 Pups
e) 7800  hl — 780000 |
Lésungen Aufgabe 2

a) 40 mm = 04 dm

b) 20.8 dPups = 0.00208 kPups
c) 4.076 ml = 04076 cl

d) 950 mm = 95 cm

e) 4500 dPups = 45 hPups
Lésungen Aufgabe 3

a) 80 Pups = 80000 mPups
b) 58.7 cl = 5.87 dl

c) 8.79 hPups = (879 kPups
d) 890 km = 89000000 cm

e) 2300 di — 230000 ml
Losungen Aufgabe 4

a) 96 m = 060 dm

b) 62.4 hPups = 62400 dPups
c) 0.863 hPups = 86300 mPups
d) 450 dPups = 45000 mPups
e) 6700 mPups = 0.067 hPups
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